TALEEMI DUNYA

Test Syllabus: Unit # 7 (Linear Equation and Inequalities)
Unit # 8(Linear Graphs & Their Applications)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle

in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
The value of "x" from the equation+/2x-3-7=0 e SV2x -3 -T7=0 X" Sl
is:
26 [ ©) ] 52 © | 49 [B) ] 7 (A)
Two linear equations are said to be equivalent if Ol e 3 e 2 P S G pilsban 2 1 S |
they have exactly the -0 SMS
oSS o O D) ol sl allidg ©) Cups s alisg (B) G da sy (A)
None of these Different equations Solution Different Solution Same
The S.S [x-4|=-4is Cuw Ja S|x- 4] = -4 3
8 | D) | ¢ ©) | -16 | ®) | -8 (A)
[x|=0 has......... solution: —g T N S A
oSS e O (D) OISOV dlassy (C) LS (B) S S dpa (A)
None of these Unlimited Two Only one
Which equation is equivalent to |3x — 5| =4? § ol e S|3x-5| =4 Gl i S| .5
Both A &B (D) 3x — 5 =4 (C) 3x+5=-4 (B) 3x+5=4 (A)
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ax+b =0 is a linear equation, where. Saa Lo dlbw apSoSdax+b=0| -6
b#0 (D) b=0 ©) a#0 (;3 a=0 (A)
Which of the following is the solution of the g da 8 lgbos 12 3—4x <11 22 LS .
inequality? 3—4x<11 )
14
None (D) - : © -2 (B) -8 (A)
A statement involving any of the symbols <, >, <or > Gadle Sl A8 e <L 2> e g P PSS 2
is called. S EMS Sah| C
S e s Gl gl ol e . . .
; i G sbase (a0 S Gl slase G gl
2 é S| (D) Linear Equation © In equation (B) Equation (A)
Identity

2. Answer the following Question:

2x7=14) : e cli g paida S N g B3 g a2

@) Define linear equation in one variable. RS iy 2SS O glase () SG e e KO )
(ii) | Solve the equation: 3/2x—4-2=0 V2x—4-2=0- =58 da & e (i)
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(iii) | Define Origin. 23 e lS wlae | (i)
(iv) | Define radical equation. -0 S el (SOl 50 | (i)
. ) 1 2 1 2 . (v)
(v) | Find Solution set. x+§:2 x—g —6x x+§:2 x—g —6x -0 S pslae Cun I
vi) When and who introduced the symbols of LIS Cajlaie Cudle (S Oilsbe e S sl S | (vi)
inequalities?
(vii) | Solve the equation: v/3x—1—2+/8—-2x =0 V3x—1=2v8—2x = 0- =S Ua il glase | (VD)
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Note: Attempt the question in detail. (@+4=8) e s I g 128

Q:3 (a) : Solve the check the equation. - S e dET s S aslee Cun JalS @l glae (@ll) 3 el g
Vx+7 +4x+2 =/6x+13 Vx+7 +4x+2 =/6x+13
(b) Solve the given inequality. (S da S Ol ghae ye (8 62 (@)

2(2x+1)—2(2x+5)<5(3x—2) 2(2x+1)-2(2x+5)<5(3x—-2)
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